Lecture 8
Chapter 4 Sampling of Continuous-Time Signals

- Review of Fourier Transforms and Fourier Series
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- Periodic Signal x(t) = x(t +T)
We have CTFS of x(t):
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Signal x(t) is

@b in time —>in frequency domain (ak)

Duality:
Signal x[n] is

discretein time -> F'y) X(ejw) = X(ej (w-um)
in frequency domain

- CTFT (Continuous-Time Fourier Transform)
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- Sampling (C/D conversion from xét) ->x[n)
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- Properties of CTFT

xth > K(ja)

Mult pli cation P tope riy :
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Next, find ouy the CTFT of o TF
Consider X(j.a) = 20§ (L -Q)
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